_—a\

v(“‘
Vlle
FITMENT INSTRUCTIONS L/zif

'FIIE ORIGINAL
ASK FOR IT BY NAME

TOYOTA LAND CRUISER DOUBLE-&-SINGLE CAB

XPEDITION & LX

FITMENT KIT CONTENTS

| DESCRIPTION 1{ QUANTITY 110 ILLUSTRATION |
o M8x25Bolt 4 .
e M8 Nylock Nut 4 ¥
e M8 Flat Washer 4 &
¢ M8 Body Washer 4 =)
e M8 Spring Washer 4 <>
REQUIRED TOOLS
| DESCRIPTION | l ILLUSTRATION ]
e 13mm Spanner e
e 13mm Socket Wrench (Optional) isuea0al
e Philips Screwdriver — e
e Drill JIU!“
¢ 9mm Drill bit —

INSTALLATION TIME & CARE INSTRUCTIONS

[ Approx. 45 Minutes (Excluding the removal of any accessories from load bin) ]

<\

Before installation, ensure that your hands and workwear are clean from oil, grime & dirt.

v" Ensure that the correct tools and PPE are used whilst installing the canopy. Clean the rear
cab window before fitting the canopy.

v' Torque all M8 fasteners to approx. 28Nm.

FITMENT STEPS

| STEP 1 )

v" Unpack all components and hardware from packaging: ensure that everything is
accounted for as indicated above.

| STEP 2 ]

v Remove any cab guards, roll bar, fonneau cover, sports bar etc. from vehicle.

2 (08/03/2023)



ycf’\’\

\ll‘\'
FITMENT INSTRUCTIONS

'THE ORIGIN “
ASK FOR IT BY NAME

VT A [T

N

REMOVE THE SCREW
WITH A PHILIPS REMOVE THE SCREW
SCREWDRIVER. WITH A PHILIPS
SCREWDRIVER.
l STEP 3 ]

v' Prior to loading the canopy for fitment, ensure that the rear cab window of the vehicle is
clean.

v' Fit the canopy to the loading bin, align & space evenly.

v' Ensure that the canopy is on its maximum position fo the front. This can be verified by the
cavity in the front panel, which will bottom out against the remainder of the roll bar
section.

v'Identify the bolt position in the front & rear section of the canopy as illustrated. Ensure

that these marks will be more or less in the middle of the load box edge.

v Drilla @9 hole into the canopy through the load box (@5mm pilot hole recommended for
accuracy) NOTE: XP models will have pre-drilled fitment holes. Use the pre-drilled hole
positions form marking on the load box.

REAR CORNER
FRONT CORNER

| STEP 4 ]

v' Secure the canopy to the load box edges using the bolts supplied, tighten the bolts to
secure the two surfaces firmly.

—_—

STEP 5 |

Trim sealing rubber on tailgate with knife or scissors.
Check again for alignment of canopy on sides of loading bin.

Check all bolts one final time.

ASERNEENEEN

Enjoy your NEW Rhinoman all Aluminum Canopy.

V.2 (08/03/2023)



"Qf"\__f—\

\lz!\'
FITMENT INSTRUCTIONS J}l(

TIIE ORIGINAL
ASK FOR IT BY NAME

WARRANTY SERVICE & CARE GUIDE

v" All Rhinoman products carry a comprehensive 2-year factory warranty.

v" PLEASE NOTE: Your canopy will only be covered under warranty if it has been fitted by
an approved Rhinoman fitment center or agent.

v' Please do inspect the fasteners on the fitment brackets every once in a while, to

ensure that all bolts are still tight and properly secured.

SHOULD YOU HAVE ANY ENQUIRIES ABOUT THE FITMENT, FEEL FREE TO CONTACT US

Z 0100100060 [ SALES@RHINOMAN.CO.ZA RHINOMAN.CO.ZA
V.2 (08/03/2023)



